REF)—T BbE  B=3 $=1 £=0
[:4va KBRZRT EX—5 g i = 5l /= KRR |R/BERE| BR
1 PNEL S 2—2 6-0 1 0 1 8 2 6 4
2 EMX—a 2-2 5-1 1 0 1 7 3 4 4
3 g2 0-6 5-1 0 2 0 1 11 -10 0
4~6fi)—45
NE sz TFE TE 1L H B =1 5] "R KR |BERRE| BR
4 EFE 3—-2 1-1 1 0 1 4 3 1 4
5 FE 2—-3 1-0 1 1 0 3 3 0 3
6 ih]::| 1—1 0—1 0 1 1 1 2 -1 1
7~9fa)—45
B s g=: EWTE &R B & 5l S KRR |BERE| B
7 q:: 2—-2 4—1 1 0 1 6 2 4 4
8 THTE 2—-2 0—-0 0 2 0 2 2 0 2
9 &R 1—4 0—0 0 1 1 1 4 -3 1
ER29EE RATeERTEM Y IA—KE HRER
141 KBRS HFF 23z BAEXFE—SFER 3 W A
41 EFESK 5L FESK 613z LA EK
iz RE RS 8fiz EHTEREER 9f MR T R34 A R




